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UNITARY METHOD

1. If the price of 8 bananas is Rs40, then find

out the price of 12 bananas.


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_hzDpDTHtzZlR

° Watch Video Solution

2. Ramesh walks 160m everyday, how many

kilometers will he walk in 4 weeks.

o Watch Video Solution

3. If Karan travels at a speed of 60 kmph and
covers a distance in 9 hrs., then how much

time will he take to travel the same distance at


https://dl.doubtnut.com/l/_hzDpDTHtzZlR
https://dl.doubtnut.com/l/_Hzqut4cQI9Wk
https://dl.doubtnut.com/l/_P8pyx0Jra6AH

a speed of 90 kmph? 8 hrs b.6 hrs c. 12 hrs d.

9hrs

° Watch Video Solution

4. If 15 chains cost Rs120, then how much do

70 chains cost ?

o Watch Video Solution

5. If the wages of 12 men for 30days be

Rs4200, then find out the wages of 24men for


https://dl.doubtnut.com/l/_P8pyx0Jra6AH
https://dl.doubtnut.com/l/_BNdSjc2fS7Vt
https://dl.doubtnut.com/l/_0P8TyPUzCYzM

18days.

o Watch Video Solution

6. If 30men working 18h per day can reap a
field in 32 days, in how many days can 36 men

reap the field working 16h per day ?

o Watch Video Solution

Exercise Base Level Questions


https://dl.doubtnut.com/l/_0P8TyPUzCYzM
https://dl.doubtnut.com/l/_zHYpy6zmf9M8

1. If cost of 24 oranges is Rs72. then find out

the cost of 120 oranges.

A.?7180

B.? 360

C. X172

D. 2500

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_CQAiUrm8Nmmj
https://dl.doubtnut.com/l/_dDMuVg0JyMUV

2. If cost of 12 pens is Rs84. then what is the

cost of 10 such pens ?

A.?790

B.?72

C.?65

D. ?70

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_dDMuVg0JyMUV

3. If the cost of 15 eggs is Rs75, then find out

the cost 4 dozens eggs.

A.? 240

B.? 300

C.?150

D.? 185

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_GsGA7ObjODTS
https://dl.doubtnut.com/l/_LHwuiuBFK6PJ

4. If 16 dozens bananas cost Rs360. then how

many bananas can be bought in Rs60 ?

A. 16 bananas

B. 48 bananas

C. 32 bananas

D. 50 bananas

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_LHwuiuBFK6PJ

5. A worker makes a toy in every 2h. If he works

for 80h, then.How many toys will he make ?

A.40

B. 54

C.45

D. 39

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_Ue7EwZ4akV40
https://dl.doubtnut.com/l/_Sgcx9FpTphV6

6. If price of m articles is Rsn, then what is the

price of 5 articles ?

m

A.Rs —
m

B.Rs mn
' 5

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_Sgcx9FpTphV6

7. 12 men can do a piece of work in 24 days.
How many days are needed to complete the
work, if 8 men are engaged in the same work ?
A. 28
B.36

C. 48

D. 52

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_EAflD6k8MX4c

8. If 45m of a uniform rod weighs 171kg, then

what will be the weight of 12m of the same rod

?

A. 49%g

B.42.5kg

C. 55kg

D. 45.6kg

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_7PqC2Uo2Mc80

9. Maganlal, a worker, makes an article in every
Eh. If he works for 7§h’ then how many
articles will he make ?
A 11—
B.11—

C. 11—

D.11—

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_EJIQExd5LKXq

10. Shantanu completes 5/8 of a job in 20
days. At this rate, how many more days will he
take to finish the job ?

A. 6 days

B. 18 days

C. 5 days

D. 12 days

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_LVuhKEb02TOk

11. 20 men can build 56 m wall in 6 days. What

length of a similar wall can be build by 70 men

in 3 days ?

A. 100m

B. 98m

C.48m

D. 85m

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_Pmp2KsCceamd

12. 22 men can complete a job in 16days. In

how many days, will 32 men complete that

job?

A 14

B.12

C.16

D. 11

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_5jCqmglM6KRE

13. If 30 men working 9 h per day can reap a

field in 16 days, in how many days, will 36 men

reap the field working 8 h per day ?

A.15

B. 25

C.18

D.10

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_vmOGh0VZ6Pnb

14. In a race, Ravi covers 5 km in 20 min. How

much distance will he cover in 100 min ?

A. 40 km

B. 35km

C. 26km

D. 25km

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_4TzAm1HqQ4tL
https://dl.doubtnut.com/l/_yMr3oAXamzUi

15. A garrison of 1000 men has provisions for

48 days. However, a reinforcement of 600 men

arrived. How long will now food last for ?

A. 35 days

B. 30 days

C. 25days

D. 45 days

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_yMr3oAXamzUi
https://dl.doubtnut.com/l/_qneSBbKZGmXB

16. A tree is 12m tall and casts an 8 m long

shadow. At the same time, a flag pole casts a

100m long shadow. How long is the flag pole?

A. 150m

B.200m

C.125m

D. 115m

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_qneSBbKZGmXB

17. If 12 persons working 16 h per day earn ?

33600 per week, then how much will 18 person

earn working 12 h per week?

A. X 40000

B. X35000

C. 728800

D. 737800

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_hMQ5mZKATbME

18. If 10 spiders can catches 10 flies in 10 min,

the how many flies can 200 spiders catch in

200 min ?

A. 2000

B. 5000

C. 4000

D. 3000

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_LkjHHrHwY470

19. 2000 soldiers in a fort had enough food for
20 days. But some soldiers were transferred to
another fort and the food lasted for 25 days.
How many soldiers were transferred ?

A. 400

B. 450

C.525

D. 500

Answer: A

‘ o Watch Video Solution


https://dl.doubtnut.com/l/_g7WhIHMheEpM

20. If in a hostel, food is available for 45 days
for 50 students. For how many days will this
food be sufficient for 75 students ?

A. 25 days

B. 28 days

C.30 days

D. 40 dyas

Answer: C

| s ]


https://dl.doubtnut.com/l/_g7WhIHMheEpM
https://dl.doubtnut.com/l/_WkAaqUUc9VD6

| ¥ Watch Video Solution

21. In a garrison, there was food for 1000
soldiers for one month. After 10 days, 1000
more soldiers joined the garrison. How long
would the soldiers be able to carry on with the
remaining food ?

A. 25 days

B. 20 days

C. 15 days

D. 10 days


https://dl.doubtnut.com/l/_WkAaqUUc9VD6
https://dl.doubtnut.com/l/_NnMhpaOezWGQ

Answer: D

o Watch Video Solution

22. A garrison is provided with ration for 72
soldiers to last for 54 days . Find how long
would the same amount of food last for 90

soldiers, if the individual ration is reduced by

10% ?

A. 48 days

B. 72 days


https://dl.doubtnut.com/l/_NnMhpaOezWGQ
https://dl.doubtnut.com/l/_tLMPcgDijwia

C. 54 days

D. 126 days

Answer: A

° Watch Video Solution

Exercise Higher Skill Level Questions

1. 3 men can do a piece of worki n 18 days , 6

boys can also do the same work in 18 days. In


https://dl.doubtnut.com/l/_tLMPcgDijwia
https://dl.doubtnut.com/l/_VD1XITPBvesR

how many days, 4 men and 4 boys together

will finish the work?

A. 10days

B. 6 days

C. 21 days

D. 9 days

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_VD1XITPBvesR

2. A man and a boy working together can
complete a work in 24 days. If for the last 6
days, the man alone does the work, then it is
completed in 26 days. How long will the boy
take to complete the work alone ?

A. 72 days

B. 73 days

C. 49 days

D. 62 days

Answer: A


https://dl.doubtnut.com/l/_amuSpU8GafnO

° Watch Video Solution

3. 25 men can reap a field in 20 days. When
should 15men leave the work, if the whole field
is to be reaped in 35 days after they leave the

work?

A. After 5 days

B. After 10 days

C. After 9 days

D. After 7 days


https://dl.doubtnut.com/l/_amuSpU8GafnO
https://dl.doubtnut.com/l/_E3nhlMBIhlR3

Answer: A

o Watch Video Solution

4.10 men and 8 women can together complete
a work in 5 days. Work done by a woman is
equal to the half of the work done by a man. In
how many days, will 4 men and 6 women

complete that work ?

A. 12 days

B. 10 days


https://dl.doubtnut.com/l/_E3nhlMBIhlR3
https://dl.doubtnut.com/l/_iMke4VsjW5np

C. 8 days

D. 9 days

Answer: B

o Watch Video Solution

5. If 12 engine consume 30 metric tonnes of
coal when each is running 18 h per day, how
much coal will be required for 16 engines, each

running 24 h per day, it being given that 6


https://dl.doubtnut.com/l/_iMke4VsjW5np
https://dl.doubtnut.com/l/_u1ImFASF1UHM

engies of former type consume as much as 8

engines of latter type ?

A. 10 tonnes

B.5 tonnes

C. 2 tonnes

D. 40 tonnes

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_u1ImFASF1UHM

6. If 12 men or 18 women can do a piece of

work in 14 days, then how long will 8 men and

16 women take to finish the work ?

A. 9 days

B. 10 days

C. 12 days

D. 14 days

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_9jLPHQiHKmUQ

7. 8 men can complete a work in 12 days, 4
women can complete it in 48 days and 10
children can complete the same work in 24
days. In how many days can 10 men, 4 women
and 10 children complete the same work?

A. 10 days

B. 5 days

C. 7 days

D. 6 days

Answer: D


https://dl.doubtnut.com/l/_ZqPuRBYrCT9C

° Watch Video Solution

8. 20 men complete one-third of a work in 20

days. How may more men should be employed

to finish the rest of th ework in 25 more days ?

A.10

B. 12

C.15

D. 20

Answer: B


https://dl.doubtnut.com/l/_ZqPuRBYrCT9C
https://dl.doubtnut.com/l/_qEGJNForEbyU

° Watch Video Solution

9. 40 men complete one-third of a work in 40

days. How many more men should be

employed to finish the rest of the work in 50

more days ?

A. 12

B. 20

C.18

D. 24


https://dl.doubtnut.com/l/_qEGJNForEbyU
https://dl.doubtnut.com/l/_z4h4PcN6AYd3

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_z4h4PcN6AYd3

